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Time Allowed: 3 ffours
Note: - Attempt any two questions each
compulsory.

tot-nf Nu
BA I't Sem.: Coordinate Geometry

Maximum Marks:40
from section-A and section_B. Section_C is

Section-A 
ZX6=1,2Q'1' The normal ot 

lh: 
parabola y' = ATfrom a point p meet the axis in A, B andc. rf B is themiddte point of z4C, prove that the locus.of p 

,i:i, 

iilnf = 2@ _ Za)s .Q'2' Prove that the locus of the por", oi ar," chord which'subtend a right angre at the fixed point(h, t) is ax2 --!r, * (4a2' + zoi), _ zaky * a(h2 + kz) = s.

: : :::HIn::i|:::;:;;lil,**::,,1,,,", *)* 
"',*.,,ine, prove,ha,,he chord or

Q'+' Two parabolas have 
' to"on rolus ana-*reir axis in opposite directions. prove that thelocus of the middle point of *re crroros of either whicfior.r, the other is another parabora.

Q.s.

Q.5.

Q.7.

Q.8.

Q.s.

Section-B 
2XG=12lf normal of the ellipse at any point P cut the major axis in G, prove that, for differentpositions of p' the rocus of the middre *,n, o, 

"c 
wi, be an eripse.

TJ[",,::':""il::::#i:ili"';': ";;il;;,,arat Q th"n p,o,e that the pore orthe normar

;,::::"T:lll: ffi:i:,".#:;:nt"n'to 
a hvperbora intercepted bv the asymptotes is

Prove that the rocus of the middre point of the chords of constant rength 2d. of therectangular hyperbola x! = cz is (x2 + yz)(xy _ rr;=-i'';;.
Section-C

2X8=16

a) ln an ellipse pair of conjugate diameters is produced to meet the directrix. prove that theorthocentre of the triangL ir ro iorm"a is the focus or1r,. 
"rripr".: [: HiHJ:i,::':ff'i:*if Hiffi di:i"i:;:riffi r-,, -3) a re,w. ve* ces .r,c) 

i#:#;:jhe 
diameter;";;,;;parabora 

at the point orcontact orthe conjugate
d) Prove that the locus of the point of intersection of two tangents to a parabora at points onthe curve whose ordinates ,." in .on.tant ratio is a parabora.e) 

;l:Jn;::TJ: toot oiti" pllpenuicura.. a,r*ni,.or-the vertex on a tansent to ther) 
ITB]jT 1:::r.he 

poles orthe normatchords orthe parabota y2 = 4ax is

g) Find the equation of the hyperbora with eccentricitv 
I and foci at (*2,0).h) Prove that the lin

a2 cos." a - bzr;i:"" 
* vsina = p touches the hvperbo,"S -# =, if .pz -


